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4 - Chemical Equations and Stoichiometry
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pacABLE T
Balance the following equation: T
2 NH3 + 7,07 > 2 NOy + 3 H0
The balanced equation shows that 1.00 mole of

NHj requires  mole(s)ofO2. 21 Z -
a) 057 1.33 Zz
b) 125 1.75 S z
) dry 12 Z=11s

Write a balanced equation for the combustion of
acetaldehyde, CH3CHO.
C“}CH 0+ %_01_ = 2C0;+ 2 H20

‘When properly balanced, the equation indicates
that _ mole(s) of O are required for each mole

of CH3CHO. I3

a) 1 2.5

b) 2 3

Balance the following cquation with the 87425 (-
SMALLEST WHOLE NUMBER O's

COEFFICIENTS possible. Select the number that
is the sum of the coefficients in the balanced
cquation:

Z KCl03 —» Z KCl+ 3 0p

a) 5 b) 6 d) 8

Write a balanced equation for the combustion of
propane, C3Hg.

CaHe +50. = 3C0.+ 4HL0

Whe?roperly balanced, the equation indicates

that 5 moles of O7 are required for cach mole
of C3Hg.
03 035 (95 a8

CQuy + 20, —= Clu ¢ 220
What is the total mass of products formed when
6 grams of CH4 is burned with excess oxygen?

Ca)) 80g ¢) 36g lby= Iml G
b) 44¢g d) 32g 4 ﬁl
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PRACTICE TEST
Calculate the mass of hydrogen formed
when 25 g of aluminum reacts with excess
hydrochloric acid.

2A1 + 6HCl - 2 AICl3 + 3 Hy

a) 041g 12¢g
b) 0.92g TEE e
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7. How many grams of the mixed oxide,
Fe304, are formed when 6.00 g of O3
react with Fe accordingto S+ 55.%5 Wl
3Fe + 207 —» Fe304 9¥b-© = (yo
a) 434 174 i3l b
b) 868 21.7
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8.  For the reaction:

2MnO3 +4KOH + O3 + Cly —»

2KMnOy4 + 2KCl + 2H>0
there is 100. g of each reactant available.
Which reagent is the limiting reagent?
[Molar Masses: Mn0O>=86.9; KOH=56.1;
09=32.0; C17=70.9] Ter As 4
a) MnO> ¢) O

KOH d)
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How many grams of nitric acid, HNO3,

can be prepared from the reaction of 92.0 g

of NO2 with 36.0 g H>O? Ty 20T

3NO7 + H2O — 2HNO3 + NO

a) 64 84

b) 76 116
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10.  The reaction of 25.0 g benzene, CgHg, with
excess HNO3 resulted in 21.4 g CgHsNO7. What

is the percentage yield?
CgHg + HNO3y = CgHsNO) + HyO
a) 100% 54.3%
b) 27.4% 85.6%
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11.  How many grams of H>O will be formed when

16.0 g Ha is allowed to react with 16.0 g O3 2
according o~ Sm# th e b

2H3 + O3 = 2H70?
18.0 g
b) 144 ¢

¢c) 900g
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12. When 8.00 g of H» reacts with 32.0 g of O3 in an
explosion. the final gas mixture will contain:
71 Hp, Hp0, and O2.¢y~ O and Hy0O only
(b)) Hp and H0 only.d5” Hy and O3 only
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13, 1.056 g of metal carbonate, containing an

unknown metal, M, were heated to give the metal
oxide and 0.376 ¢ CO».

MCO3(s) + heat — MO(s) + COs(g)
What is the identity of the metal M?
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Mg ¢) Zn
Cu d) Ba
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14 Styrensthe building block of polystyrene fsas 200 O ,C‘(”ﬁ% A
hydrocarbon, a compound containing only C and ADSwers: -
H. A given sample is burned completely and it 1 D 8 B
produces 1.481 g of CO7 and 0.303 g of H0. 2 T 9T
Dctcrmin; the empirical formula of the 3 (& 10. T
campound. 4 C 1. A
CH c) CoHj 5 A 12.| B
by CHp d) CoHs 6 D 13.] B
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